Intermediate Algebra Skill
Solving Index 2 Radical Equations: Radical on Both Sides

Solve the following Radical equations:

1) V2r-3=+r+3 2) P3x=2=Jx+10

3) Jdx+4=16x-2 4) J4r+8=2r

5) Bx—5=Vx+9 6) V3k+5=2Jk

7) 3Jx=Jx+8 8) J3f—4=23f-2
9) 2J3b—5-2b+10=0 10) 2Jm+4—Tm+1=0
11) Vx+1=Jx+11 12) Jx+1=2—-Jx

13) Jx+7=3+/x-8 14) Jx+2+3x+4=2

15) Jx+Jx-9=1 16) 2x+7 —Jx+15=-1



Answers to Solving Index 2 Radical Equations: Radical on Both Sides

1) 6

2)6

3)3

4) no solution
5) 7

6) 5

7)1

8) no solution
9)3

10) 5

11) 25

12) 9/16
13)9

14) -1

15) no solution
16) 1



